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f(X) = U(X) £ V(X) 7225 % HATS, B

(U(X) £ V(X)) | x=x= U'(Xg) £V'(Xp). (1)

# BRAL u(X),v(X) FER X, I, NI BR %

F(X)=u(x)v(x) R x, BT 7, H
(UOX)V(X)) [ xaxo = U'(X)V(X0) + U(X)V'(Xg).  (2)
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FUNX)ER X TS, ca2FH, N
(CU(X))"| oy, = CU'(Xo)- (3)

FEH 5.5 W BMERR R RBAHRKIFEE, W

(uvw)' = u'vw + uv'w + uvw’.
HEE: (u) ¢ vV |, TAAERLESECRIR AR (2)
e T .

MHERHZRIA A Z (2).
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U(Xy + AX)V(Xy +AX)=U(Xy)V(Xp)

Fo0)= I, v
— Ilim U(Xg + AX)V(Xg +AX)—U(Xy)V(Xy +AX)
_Ax—>0 A X

n U(Xy)V(Xg +AX)—=U(Xy)V(Xp)
A X
= Jim U0 HAX)=U)) V(Xy +AX)
AX—>0 A X
+ lim u(x,) V(Xy +AX)—V(Xg)
AX—0 A X

=U'(Xg) V(X)) + U(Xg) V'(Xg) -
HFEPh FHE SHHNHNS
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RS BIRSiERSE
FI1 R f(x)=ax"+a,x"+--+a,_ x+a, K
0 1 n-1 n

iR T'(x) =(a,x") +(@x") +---+(a_x)+()
=na, X" +(n-1ax"*+---+a_,.
A, T2 WS, FEH f R—1RX.
#2 3K y=sinxInx 7& x=§&tl§l‘]§ﬁ%§(.
i BAa (2), &/
' - ' : ' 1 .
y' = (sin X) In X+ sin X(In x)'=cos xIn x + —sin X,
2

4
>/‘X=E - .
2 T
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SRR RIEHE

B U(X),V(X) FERA XTI, V(%) %0,
mof(x) =20 gk S, H

V(X)

UOY| L WOV = UV (X)
V9 ) | o VZ(X,) |
RYEE T2, (DR B RE % = u(x) (1X),

ISR T

#FSh FhE SRS

BEHNE BT




SHNMMEE ) EEANSY D SAEMMSH > EARSENSA:

1

ik # g(x) = , U F(x) = u(x)g(x). XFg(x),H
V(X) 11
g(Xg+AX)—09(Xp) _ V(Xg+AX)  V(Xy)
A X A X
. V(X +AX)—=V(Xp) . 1

A X V(X +AX)-V(Xy)
T V(X)) FEER X, AT R, v(X,)=0, Hitt
9% +AX)—9(X) _ V'(Xo)

900) = I, AX V2 (%)
1Y _ V'(X,)
RE (v(x)) o V(%) P
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S f(x)=u(x)g(x) AR (2) i (5), &
(4

F1(xy) = U'(Xo)—— +u(xo)[i)

V(%) v | o
_u(xg) V'(Xp)
- V(Xp) 1(%) vz(xo)
_ U'(Xg)V(Xg) —U(Xg)V'(Xg)
V¥ (%o) |
al (u(x)]' _ U(x)V(%) = U(Xp)V'(Xo)
v(x) )| oy v2(Xo) |
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(i) x™", n RIEEE# ; (i) tan x, cot x;

(111) secx, CSCX.

@ (i) () ( 1 )’=_(x”)’ o

X X2n X2n

(i) (tan x)' _ (sin x)'= (sin x)' cos X —sin x(cos x)'

COS X coSs® X
oS’ X +sin® X 1 ;
— . =——— =sec’x.
COS® X COS® X
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B8 (cotx) = > =— cSC% X.
sin“ X

(111) secX, CSCX.

’ / 4
(secxy =1 ) = (cosx)  sinx
COS X cos®X  COS’ X
— sec X tan X.
5 FEA] 15

(csc x)' =—csc x cot X.
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